Pupil’s book, unit 11, page 114, Reading. What are you doing?
What are you doing, Amy?
| am holding an umbrella.

3k 3k sk 3k sk 3k 5k 5k 3k 5k 3k 3k 5k 5k 5k 5k 5k 3k 3k 3k 3k sk sk sk sk sk sk sk sk sk 5k 5k 5k 5k 3k 5k 5k 5k 5k 5k 5k %k %k %k k

It is raining.
What colour is my umbrella?

3k 3k sk 3k sk 3k 5k ok 5k 5k 3k 5k 5k 5k 5k 5k 5k 3k 3k 3k 3k sk sk 3k sk sk sk sk sk sk 5k 5k 5k 5k 3k 5k 5k 5k 5k 5k %k %k %k %k k

What are you doing, Tom?
| am holding my kite.

3k 3k 3k 3k sk 3k 5k ok 5k 5k 3k 3k 5k 5k 5k 5k 5k 3k 3k 3k 3k sk sk 3k sk sk sk sk sk sk 5k 5k 5k 5k 3k 5k 5k 5k 5k 5k 5k %k %k %k k

It is windy.
How many kites are there?

3k 3k 3k 3k 3k 3k 5k 5k 3k 5k 3k 5k 5k 5k 5k 5k 5k 3k 3k 3k 3k sk sk sk sk sk 3k sk sk sk 5k >k 5k 5k 3k 5k 5k 5k 5k 5k %k %k %k %k k

What are you doing, Jill?



| am going to school.

3k 3k sk 3k sk 3k 3k ok 3k 5k 3k 5k 5k 5k 5k 5k 5k 3k 3k 3k 3k sk sk sk sk sk sk sk sk sk 5k 5k 5k 5k 3k 5k 5k 5k 5k 5k %k %k %k %k k

It is cold. | have a hat.
What colour is it?

3k 3k sk 3k sk 5k 5k ok 3k 5k 3k 3k 5k 5k 5k 5k 5k 3k 3k 3k 3k sk sk sk sk sk sk sk sk sk 5k >k 5k 5k 3k 5k 5k 5k 5k 5k 5k 5k %k %k k

What are you doing, Harry?
| am playing in the garden.

3k 3k sk 3k sk 3k 3k 5k 5k 5k 3k 3k 5k 5k 5k 5k 5k 3k 3k 3k 3k sk sk sk sk sk sk sk %k sk 5k 5k 5k 5k 3k 5k 5k 5k 5k 5k 5k %k %k %k k

It is snowing. Look at my snowman!
Where is the bird?

3k 3k sk 3k 3k 3k 5k ok 5k 5k 3k 5k 5k 5k 5k 5k 5k 3k 3k 3k 3k sk sk %k sk sk sk sk %k sk 5k >k 5k 5k 3k 5k 5k 5k 5k 5k 5k %k %k %k k

What are you doing, Betty?
| am looking at the boats.



3k 3k sk 3k sk 3k 3k ok 3k 5k 3k 5k 5k 5k 5k 5k 5k 3k 3k 3k 3k sk sk sk sk sk sk sk sk sk 5k 5k 5k 5k 3k 5k 5k 5k 5k 5k %k %k %k %k k

It is sunny. | have got sunglasses.
How many boats are there?

3k 3k sk 3k 3k 5k 5k ok 3k 5k 3k 3k 3k 5k 5k 5k 5k 3k 3k 3k 3k sk sk sk sk sk sk sk %k sk 5k >k 5k 5k 3k 5k 5k 5k 5k 5k %k %k %k %k k

What are you doing, Max?
| am eating an ice cream.

3k 3k 3k 3k sk 3k 3k 5k 3k 5k 3k 3k 5k 5k 5k 5k 5k 3k 3k 3k 3k sk sk 3k sk sk sk sk sk sk 5k >k 5k 5k 3k 5k 5k 5k 5k 5k %k %k %k %k k

It is very hot today.
Mmm! | like ice cream.
It is cold!



